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2. Given z = 2((:05 13—T + isin ;—T) ,find z? in the form r(cos 6 + i sin 8\)./

If z; = ri(cos 6; + isin 6;)
and Zo = ry(cos 6, + isin 6,),
then *zl.zz = ry.rx[cos(6; + 6,) + isin(0; + 0,)]

21— Dlc os(0, — 6,) + isin(0, — 0,)].
22 2

and

r=2
B=1, > [ o5 (545 )4 i50 (54)]
32

G| cos HM 45 Sin l,v]
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De Moivre's theorem (cos 6 + isin 6)" = cos nf + isin né, ’

for all real values of n.
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*
If z =r(cos 0+ isin 6),then using de Moivre’s Theorem:
z" = [r(cos 6 + isin 6)]"
= r'(cos n6 + i sin nf) foralln € Z.
(Example 1 )
\ Find the value of (cos % + isin %T)1
de Woiwpe
= Cos 3T + iSin $u
0 C
= Cos T 4 18510 T
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